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Appendix 4C
The U.S. Corporate Income Tax System
PROBLEMS
SOLUTION SYMBOL 45 \f "Symbol" PROBLPROBLEM 4CSYMBOL 45 \f "Symbol"1

(a)1


From the data in Figure 4C.1, page 107, R & D equipment is in the 5-year class.

(b)
Using the percentages in Figure 4C.2, page 108:


Year
ACRS%
SYMBOL 180 \f "Symbol"
Cost

Cost
=
Depreciation

1
20.00%
SYMBOL 180 \f "Symbol"
$3,00
$3,000,000
=
$600,000


2
32.00
SYMBOL 180 \f "Symbol"
  3,0
  3,000,000
=
  960,000


3
19.20
SYMBOL 180 \f "Symbol"
  3,0
  3,000,000
=
  576,000


4
11.52
SYMBOL 180 \f "Symbol"
  3,0
  3,000,000
=
  345,600


5
11.52
SYMBOL 180 \f "Symbol"
  3,0
  3,000,000
=
  345,600


6
  5.76
SYMBOL 180 \f "Symbol"
  3,0
  3,000,000
=
  172,800

(c)
Year
Depreciation
SYMBOL 180 \f "Symbol"
Tax R
Tax Rate
=
Tax Savings

1
$600,000
SYMBOL 180 \f "Symbol"
35%
=
35%
=
$210,000


2
  960,000
SYMBOL 180 \f "Symbol"
35
=
  
35%
=
  336,000


3
  576,000
SYMBOL 180 \f "Symbol"
35
=
  
35%
=
  201,600


4
  345,600
SYMBOL 180 \f "Symbol"
35
=
  
35%
=
  120,960


5
  345,600
SYMBOL 180 \f "Symbol"
35
=
  
35%
=
  120,960


6
  172,800
SYMBOL 180 \f "Symbol"
35
=
    
35%
=
    60,480

(d)
The straight-line method to zero salvage over a 6-year life would produce depreciation per year of:



$3,000,000 SYMBOL 45 \f "Symbol" 0
=
$ 0   =   $500,000



6


ACRS
SL
Pre-tax
Tax
After-taxSYMBOL 129 \f "Wingdings"

Year

Year
Depreciation
SYMBOL 45 \f "Symbol"
Depre
Depreciation
=
Difference
SYMBOL 180 \f "Symbol"
Rate

Rate
=
Difference

1
$600,000
SYMBOL 45 \f "Symbol"
$500,
$500,000
=
$100,000
SYMBOL 180 \f "Symbol"
35%
=
35%
=
$  35,000


2
  960,000
SYMBOL 45 \f "Symbol"
  500
  500,000
=
  460,000
SYMBOL 180 \f "Symbol"
35
=
  
 35%
=
  161,000


3
  576,000
SYMBOL 45 \f "Symbol"
  500
  500,000
=
    76,000
SYMBOL 180 \f "Symbol"
35
=

35%
=
    26,600


4
  345,600
SYMBOL 45 \f "Symbol"
  500
  191,200
=
 (154,400)
SYMBOL 180 \f "Symbol"
35
=
 
35%
=
(  54,040)


5
  345,600
SYMBOL 45 \f "Symbol"
  500
  191,200
=
 (154,400)
SYMBOL 180 \f "Symbol"
35
=
 
35%
=
(  54,040)


6
  172,800
SYMBOL 45 \f "Symbol"
  500
  154,400
=
 (327,200)
SYMBOL 180 \f "Symbol"
35
=
 
35%
=
(114,520)

Note:
SYMBOL 129 \f "Wingdings" A pos A positive number means ACRS depreciation exceeds SL depreciation, so taxable income is less than reported income by this amount, and vice-versa.  Also, the sum of this column = zero since the difference exactly balances out (reverses) by the end of the six years.
SOLUTION SYMBOL 45 \f "Symbol" PROBLPROBLEM 4CSYMBOL 45 \f "Symbol"2

(a)2

From the data in Figure 4C.1, page 107, the computers are in the 5-year class.

(b)
The computers have a 3-year economic life.  Using the 5-year class percentages in Figure 4C.2, page 108, for these first 3 years:


Year
ACRS%
SYMBOL 180 \f "Symbol"
Cost

Cost
=
Depreciation

1
20.00%
SYMBOL 180 \f "Symbol"
$750,
$750,000
=
$150,000


2
32.00
SYMBOL 180 \f "Symbol"
  750
  750,000
=
  240,000


3
19.20
SYMBOL 180 \f "Symbol"
  750
  750,000
=
  144,000

(c)
Year
Depreciation
SYMBOL 180 \f "Symbol"
Tax R
Tax Rate
=
Tax Savings

1
$150,000
SYMBOL 180 \f "Symbol"
35%
=
35%
=
$52,500


2
  240,000
SYMBOL 180 \f "Symbol"
35
=

35%
=
  84,000


3
  144,000
SYMBOL 180 \f "Symbol"
35
=
 
35%
=
  50,400

(d)
The straight-line method to zero salvage over a 3-year economic life produces annual depreciation of:



$750,000 SYMBOL 45 \f "Symbol" 0
=
$ 0   =   $250,000



3


ACRS
SL
Pre-tax
Tax
After-tax


Year
Depreciation
SYMBOL 45 \f "Symbol"
Depre
Depreciation
=
Difference
SYMBOL 180 \f "Symbol"
Rate

Rate
=
Difference

1
$150,000
SYMBOL 45 \f "Symbol"
$250,
$250,000
=
($100,000)
SYMBOL 180 \f "Symbol"
35%
=
35%
=
($35,000)


2
  240,000
SYMBOL 45 \f "Symbol"
  250
  250,000
=
(    10,000)
SYMBOL 180 \f "Symbol"
35
=

35%
=
(    3,500)


3
  144,000
SYMBOL 45 \f "Symbol"
  250
  250,000
=
(  106,000)
SYMBOL 180 \f "Symbol"
35
=

35%
=
(  37,100)

SOLUTION SYMBOL 45 \f "Symbol" PROBLPROBLEM 4CSYMBOL 45 \f "Symbol"3

(a)3

(a)
After-tax EPS
=
$2.00 SYMBOL 45 \f "Symbol" 35%($ 35%($2.00)



=
$2.00(1 SYMBOL 45 \f "Symbol" .35)  .35)   =   $2.00(.65)   =   $1.30
(b)
Tom owns 100 shares, so he received:
 100 SYMBOL 180 \f "Symbol" $1.30  $1.30  =   $130.00
(c)
Tom kept:
$130.00 SYMBOL 45 \f "Symbol" 15%($ 15%($130.00)   =   $130.00 SYMBOL 45 \f "Symbol" $19.5 $19.50   =   $110.50
(d)
For each share, Tom kept
$110.50  =  $1.105 out of $2.00 of income.





100


  Correspondingly,  $2.00 SYMBOL 45 \f "Symbol" 1.105  $1.105   =   $0.895 was paid in taxes.


The total (double taxation) tax rate was therefore:
$0.895  =  44.75%




 


 $2.00

SOLUTION SYMBOL 45 \f "Symbol" PROBLPROBLEM 4CSYMBOL 45 \f "Symbol"4

(a)4
(a)
After-tax EPS
=
$4.00 – 34%($4.00)



=
$4.00(1 SYMBOL 45 \f "Symbol" .34)  .34)   =   $4.00(.66)   =   $2.64
(b)
Wanda owns 300 shares, so she received:

300 SYMBOL 180 \f "Symbol" $2.64  $2.64   =   $792.00
(c)
Wanda kept:

$792.00 SYMBOL 45 \f "Symbol" 31%($ 31%($792.00)   =   $792.00 SYMBOL 45 \f "Symbol" $245.$245.52   =   $546.48
(d)
For each share, Wanda kept  $546.48  =  $1.8216 out of each $4.00 of income.





  300


  Correspondingly,  $4.00 SYMBOL 45 \f "Symbol" 1.821 $1.8216  =  $2.1784 was paid in taxes.


The total (double taxation) tax rate was therefore:
$2.1784  =  .5446  =  54.46%




  


  $4.00

SOLUTION SYMBOL 45 \f "Symbol" PROBLPROBLEM 4CSYMBOL 45 \f "Symbol"5

(a)5


Youngblood's tax return will be:


  EBIT
$15,000,000


–Interest
    5,000,000


Taxable income
$10,000,000

(Recall that dividends are not allowed as a tax deduction)

(b)
Using the tax-rate table on page 110:


   15%
SYMBOL 180 \f "Symbol"
$    
    50,000
=
$       7,500


+ 25%
SYMBOL 180 \f "Symbol"
     
    25,000
=
         6,250


+ 34%
SYMBOL 180 \f "Symbol"
     
    25,000
=
         8,500


+ 39%
SYMBOL 180 \f "Symbol"
     
  235,000
=
       91,650


+ 34%
SYMBOL 180 \f "Symbol"
    9
    9,665,000
=
  3,286,100

$10,000,000
$3,400,000
(c)
Average tax rate:


$  3,400,000
=
34%

$10,000,000

(d)
Marginal tax rate:


From the tax table, if Youngblood were to earn another dollar, it would be taxed at 35%, since it would put Youngblood into the next tax bracket.

SOLUTION SYMBOL 45 \f "Symbol" PROBLPROBLEM 4CSYMBOL 45 \f "Symbol"6

(a)6

Zebra's return will be:


  EBIT
$200,000


–Interest
    50,000


Taxable income
$150,000

(Recall that dividends are not allowed as a tax deduction)

(b)
Using the tax-rate table on page 110:


   15%
SYMBOL 180 \f "Symbol"
$  50
$  50,000
=
$  7,500


+ 25%
SYMBOL 180 \f "Symbol"
    2
 25,000
=
    6,250


+ 34%
SYMBOL 180 \f "Symbol"
    2
 25,000
=
    8,500


+ 39%
SYMBOL 180 \f "Symbol"
    5
    50,000
=
  19,500

$150,000
$41,750
(c)
Average tax rate:


 $41,750 
=
.2783
=
27.83%

$150,000

(d)
Marginal tax rate:


If Zebra were to earn another dollar, it would be taxed at 39%.

SOLUTION SYMBOL 45 \f "Symbol" PROBLPROBLEM 4CSYMBOL 45 \f "Symbol"7

(a)7


(a)
Applejack's tax return will be:


   Earnings from operations
$25,000,000


+ Interest earned
    1,000,000


+ 30% of dividends receivedSYMBOL 129 \f "Wingdings"
    1
    1,500,000


EBIT

  27,500,000


SYMBOL 45 \f "Symbol" InterInterest paid

    7,000,000


Taxable income
$20,500,000

Note:
SYMBOL 129 \f "Wingdings"RecallRecall that only 30% of inter-company dividends are subject to tax (while dividends paid are not an allowable tax deduction).
(b) Since Applejack's taxable income exceeds $18,333,333


Tax liability
=
35%(taxable income)



=
35% ($20,500,000)   =   $7,175,000
SOLUTION SYMBOL 45 \f "Symbol" PROBLPROBLEM 4CSYMBOL 45 \f "Symbol"8

(a)8

(a)
Buttermilk's tax return will be:


   Earnings from operations
$150,000


+ Interest earned
    20,000


+ 30% of dividends receivedSYMBOL 129 \f "Wingdings"
     
      1,500


EBIT

  171,500


SYMBOL 45 \f "Symbol" Inter Interest paid

    40,000


Taxable income
$131,500

Note:
SYMBOL 129 \f "Wingdings"Recall Recall that only 30% of inter-company dividends are subject to tax (while dividends paid are not tax-deductible).
(b)
Using the tax-rate table on page 110:


   15%
SYMBOL 180 \f "Symbol"
$  50
$
50,000
=
$  7,500


+ 25%
SYMBOL 180 \f "Symbol"
    2

25,000
=
    6,250


+ 34%
SYMBOL 180 \f "Symbol"
    2

25,000
=
    8,500


+ 39%
SYMBOL 180 \f "Symbol"
    3

31,500
=
  12,285

$131,500
$34,535
(c)
Average tax rate:


 $34,535 
=
.2626
=
26.26%

$131,500

(d)
Marginal tax rate:


If Buttermilk earns another dollar, it would be taxed at 39%.


